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PART - B
(Analytical/Problem solving qucslimm)
Attempt any five questions, "'5"1"'1{1';
1.~ What do you understand-about “ Bellman equation for value function”. Give example,
2. Give merits and demerits of filter and wrapper feature selection methods,
3. Discuss about fre quent pattern, support and confidence of a association rule with
example.

j;/‘f.xplam following with respect to multilayer network
= a) Weights and Biases
b) Use of Activation functions,

S.  What is the use of confusion matrix. Define all the related terms of a confusion
matrix.
6. iscuss various types of splits of a attribute in a decision tree classification algorithm.
7/ What is overfitting problem in Machine learning algorithm. Give solutions for it.
PART - C

m(l)cscnphvca’.& nalvhcnl;’l”rnhlcm wlwum‘l)cmgu questions))

" Attempt aity three GUELHoNT | (3x10=30)

1. Explain K-nearest neighbor method. Consider a binary classification problem with
two classes C1 and C2. Class lables of ten other training set instances sorted in

increasing order of their distance to an instance.
x is as follows: {C1,C2,C1,C2,€2,€2,CLC2,C1,C2}.
How will a x —3 nearest neighbour classifier classify the instance x

Q/Z./ Suppose you are given following set of training examples. Each attribute can take
on one of three nominal values: ab,or c.

Al A2 A3 Class

a ¢ a Cil

c a c c1

a a c €2

b c a G2

c c b C2

a) How would aNaive Bayes classifier classify the example Al=a, 42=¢, 43=57
Show all steps.

b) Howwould aName Bayes classifier classify the example Al=c, 42=¢, 43=a?
Show all steps.
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